NTERADHB(HEBERFH
45£—-9R—-2;8— AE A =]
K&
1) ROFHEZEVIhSETLEEL, (2R X10:E)

1) 3.5+7 2) 5.7+5
3) 0.64+4 4) 2.4+3
5) 31.2+6 6) 68.4+9
7) 18.48+8 8 2.1+2

9 4.5+5 10) 51.2+4



NTERADHB(HEBERFH
45 —9R —2;8— KB A =]
K&
2) ROFEZZVIINBETLESL, (2R % 10%)

D 7.2%9 2) 135.5+5
3) 2.31+7 4) 1.5+3
5) 192.4+4 6) 47.4+6
7)) 117.6+8 8) 8.8+2

9) 62.4+6 10) 211.2+3



NTERADHB(HEBERFH
45 —9R —2;8—kiE A =]
K&
3) ROFHEZEFVINDETLESL, (2R X10%)

1) 12+5 2) 113.4%9
3) 64.4+7 4) 26.4+3
5) 317.4+6 6) 84.8+2
7y 5.6+8 8 0.8+4

9) 407.7+9 10)  96.6+7
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45 —9R —2;8—Khg A =]
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4) ROFEZZVIINBETLESL, (2R % 10%)

1)  3.3+3 2) 148.8+6
3) 308+5 4) 49.7+7

5) 5.67+9 6) 1.58+2
7) 326.4+8 8) 37.2+4

9) 53.6+8 10) 178.6+2
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45 —9R —2;8— &g A =]
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5) ROFHEZFVEIINBETLESL, (2R X 10%)

1) 63.2+8 2) 436.8+7
3) 9+6 4) 145.5+3
5) 36.5+5 6) 0.72+2
7) 703.8+9 8) 1.72+4

9) 22.2+6 10)  21.52+8



NTERADHB(HEBERFH

45—-9R—28

1) ARE—m@E (2K X10%)

1) 0.5 2 1.
6) 7.6 D2

2) KiE—MRE (2R x10%#)

1) 0.8 2) 27.
6) 7.9 7 14,

3) Kig—EE (2R x108)

1) 2.4 2) 12.
6) 42.4 7 0.

4) KE—RE (2Rx10%#)

1 1.1 2) 24.
6) 0.79 7) 40.

5) &E—ME (2R X108

1 7.9 2) 62.
6) 0.36 7) 78.
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0.16
1. 05

0. 33
4.4

9.2
0.2

61.6
9.3

1.5
0. 43

=
4) 0.8
9 0.9
=
4) 0.5
9) 10.4
=
4) 8.8
9) 45.3
=
4) 7.1
9 6.7
=
4) 48.5
9 3.7

5)
10)

5)
10)

5)
10)

5)
10)

5)
10)

13.

N

—r

0o

.63
89.
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